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SECTION A — SHORT ANSWER 40 MARKS

1. Identify and explain the four basic global operations strategies. (6)
2, Describe the three forecasting time horizons and at least two instances for their use. (9)
3. Identify the reasons a local company would like to go global. (6)
4. State any five of the benefits of implementing group technology. (5)
B, Identify any five major concepts of TQM. (5)
6. Name the tools of process analysis and design. (4)
7 Identify five factors that affect location decisions at the site level. (5)
SECTION B - PROBLEMS 60 MARKS

1. Data collected on the yearly registrations for Six Sigma seminar at the Quality College
are shown in the following table:

Year 1e2e 304 5 6 T e 9 10 11
Registrations 4 6 4 5 10 8 7 9 12 14 15
(000)

a) Develop a 3-year moving average to forecast registrations from year 4 to year 12.
b) Estimate demand again for years 4 to 12 with a 3-year weighted moving average
in which registrations in the most recent year are given a weight of 0.6, and the

other 2 years are given a weight of 0.2 each.
(18)

2. Marlboro Steel Mill has implemented several programs to improve its productivity. They
have asked you to evaluate the firm's productivity by comparing this year's performance
with last year's. The following data are available:

Last Year This Year
Output 10500 units 12100 units
Labour Hours | 12000 @ R10 per hr 13200 @ R12 per hr
Materials 7600 kg @ R5 per kg | 8250 kg @ R4 per kg
Capital R83000 R88000

Compute the productivity as well as the changes in following:

a)labour
b)Utilities
c)Capital
d)Multifactor (Use three decimal places)
(32)

3.

SEASON 1 2 3 4
Winter 1,400 1,200 1,000 a00
Spring 1,500 1,400 1,600 1,500

Summer 1,000 2,100 2,000 1,900

Fall 600 750 650 500

Compute seasonal indices using all of the data. (10)




